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After setting up a Guest-WLAN using the Mist captive portal, users complain that they are not able to
see the captive portal splash page. What would be two reasons for this problem?

(Choose two.)

Response:

A. The DNS server's IP address is not configured in the IP pool.

B. The guest VLAN tag is not configured on the switch port.

C. The RADIUS server is not configured on the WLAN.

D. The Mist portal IP is not configured under the captive portal bypass.

Answer: A,B

Which two methods does Mist Bluetooth location use for Asset Tracking and User Engagement?
(Choose two.)
Response:

A. trilateration

B. machine learning
C. probability surfaces
D. triangulation

Answer: B,C

Which statement is correct about using bonded channels?
Response:

A. Channel bonding is only supported for channels in the 2.4 GHz band.

B. The total number of available channels doubles every time you bond two channels.

C. The total number of non-overlapping channels doubles every time you bond two channels.
D. Available AP bandwidth doubles every time you bond two channels.

Answer: D
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A network-related issue is identified and Mist automatically captures the problem into a dynamically
generated packet capture. In this scenario, where would a network administrator download these
packet captures in the Mist UI?

Response:

A. Insights

B. Wi-Fi Service Levels
C. Alerts

D. Audit Logs

Answer: A

How much frequency does a DSSS channel use on the 2.4 GHz band?
Response:

A. 22 MHz
B. 4 MHz

C. 12 MHz
D. 10 MHz

Answer: A

What does a 3dBi antenna do to a received signal?
Response:

A. It increases the power by a factor of 3.
B. It increases the power by a factor of 10.
C. It increases the power by a factor 2.

D. It decreases the power by a factor 3.

Answer: C
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The wireless service level expectation (SLE) for coverage uses which three classifiers?
(Choose three.)
Response:

A. weak signal

B. asymmetry uplink

C. Wi-Fi interference

D. asymmetry downlink
E. authorization

Answer: A,B,D

What do 802.11 stations perform to help avoid collisions on the WLAN medium?
Response:

A. 802.11 stations detect collisions and set a back-off timer.

B. Listen to verify that the medium is free before transmitting.
C. Stations only transmit when polled by the access point.

D. Transmit on a fixed schedule.

Answer: B

For which three categories does Marvis Actions provide information?
(Choose three.)
Response:

A. AP

B. Switch

C. Location

D. Analytics

E. Authentication

Answer: A,B,E
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Your team wants to deploy three access points within the 2.4 GHz band. You must ensure that they do
not overlap with each other. In this scenario, which three channels should be selected to accomplish this
task?

(Choose three.)

Response:

A.6
B.11
C.1
D.4
E.7

Answer: A,B,C
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